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Abstract

The mathematics is a science of multiple branches , wide, we
chose the linesr algebra , in it was mention the linear system.

When the initiation wes inclining towards it’s the belonging of
subjects and understandings that wide in sutch a system , and some
of them gad been generaly acknowledged , and we toke examples
for them.

There after we examples some methods systems of solving
inbrief aand the required details , finally we taike about the
engineering concept to the linear engineering systems
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s=[vi+Vy ..V, ]
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k1V1 + k2V2 + -+ krVr == O
k1 =0,k2=0,k3=0
Jola cllia cul€ 13 glhbad Ale 458 el S 08 2a gl Jall aall dall sa 138 (IS 1Y)
L Alfiae e 48 el S Ol 5 A
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:Jall
O G py b Uil e 48 05

3p1 —p2+2p3 =0
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k=(0,0,1) j=1(0,1,0) i=(10,0) wledl ,iac)
:Jall
Glgaial Al 18 S 5all AV R5 (e

k11+k2]+k3W: 0
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k,(1,0,0) + k,(0,1,0) + k5(0,0,1) = (0,0,0)

AilSia 5y gy

(kll K 2 k3) = (0,0,0)
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u=(1,-1,0),v =(1,3,-1),w=(53,-2)
3u +2v—w = 0 VY ks
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w=(0,0,7,2), u=1(6,2,3,4), v =1(0,5-31) ksl
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6x =0- (1)
2x +5y =0- (2)
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toad oY) Al
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=G xu + XV +zw =0 Q@ 1Xayz =0 axiy = 0 AN Aabad

s B u,v,w by x =0,y =0,z =0

7z ol JCall & ghian (558 clgaial of LaaY

6 2 8 1
(0 5 -3 1)
0 0 7 =2



ZEPY
S Al 8 LY aseie o (of Llad Al da ol Adshiadl 8 4 il e gl
P I PPN iy el A ass o Sy aad 5 daie (e
Gleaiall Jha S 5 baal ol 1Y Ly 1)) Lha  dad e vy, .. v Gleaidl oS
L;)iiﬁ\
G AY) Cilgaiall s (€ 55 My of (i ey el
alaal Skl vy il 1lvy = a;vq + -+ +aj-1Vimg +aj41Vigr + 0 F AV
Las
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G
el
e; = (1,0,0,...,0)e, = (0,1,0, ...0)e,(0,0,0, ...,1)
o s
s = [eq, €, .., €]

R™ 3V = (Vq,Vy, ., V) 3aie gl G R? 8 dplad Al 43
V=e1Vy +evy + ey byeall o A0S Ky
R™ ¢liaill slimall (ubul¥ly cansis Lulad 0585 @<y R? ¢ oiw S (ld
—:Jla
m, = (1 O)’ m, = (0 1),m3 _ (0 O) m, = (O 0) S50

0 0 0 0 1 0 0 1
S o Y 2X2 gaill (e cligiadim,,, W o585 s = [my, my, my, m, )4l

o sal ‘;s@ususm(i g) adsal Aaidl o) By myy (48

G D=2 o2 o)+ o)+ D)
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o s bhd Al § o) <Ay
am; + bm, + cm; +dm, =0
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G =G o
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1l
O Lay @3 (o Sliaby da jre A gieas (O LY Lhd dlie RY 8 day Y1 cileasdl ¢f
R* il J<i cileatidl s2a i dimx* = 4

(1,1,1,1),(0,1,1,1),(0,0,1,1),(0,0,0,1)
o A e A ghiae JSE LY Lha Alii,
dimx* = 4 o W
RJ Lulad S5 culgaiall sda old
: Al sl (7.1)
D ghall s il iy
AU (Sae g8 1Y vy, Vo, Ve Sleatall e Jhd S U dstall ey
Juall

u=Kk,vy +kpvy + -+ Kkpvyp

34 dael ky, ky ket s
Glgaiall Jad (a5 0S8 e dasl At v = (1, —2,5) Wl ()

e;(1,1,1) = e,(1,2,3) = e3(2,—1,1)
:Jad
OV s Usean Jael X,y ,Z Cun € =Xe; +ye, +zeg JSElv g el 34
1058 o llai Lald 13Ka

(1,-2,3) =x(1,1,1) +y(1,2,3) + z(2,—1,1)

= (x,x,x) + (y,2y,3y) + (2z,—z,z)
=XxX+y+2zx+2y—27x+3y+7z)

6 AU Laaas) Ay ghue okl LS ) it ol ¥ aleall (o QIS Ao sandll (5
x+y+2z=1 x+y+2z=1 x+y+2z=1

X+2y—z=-2 y—3z=-3 y—3z=-3
58 =10 2y —z =4 x+3y+8=5

b Al sl o Jaalaall aas eday s da Ledd UL, Al gie A5 de saadll of sl
v = —6e; + 3e, + 2e3
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X=—-6,y=3,z2=2-

s JUa
Glgaiall i S K R30e v = (2,-5,3) dsidl i
e; = (1,-3,2),e, =(2,—4,—1),e5 = (1,-5,7)
: dadl
vV =Xxe; +ye, + Qﬁ X, Y, Zdwlaall aladiuly e ilgaiall GL.; S 5 G ‘_sjsva_ﬁs.d
Z€3
(2,-5,3) =x(1,-3,2) +y(2,—4,—1) + z(1,-5,7)
= (x+2y+2z,-3x—4y—5z2,2x—y + 77)

s Aaall ) peaia A Y sl (e RS A sanall (58

X+2y+z=2

2y — 2z =12

—5y+5z=-1
S

X+2y+z=2

—3x—4y—-5z=-5

2Xx—y+7z=3
B

Z+2y+z=2

2y—2z=1
0=3

€1,€2,€3 ngbéuﬂsﬂd&i&vhusus@m&mh}d;mu‘g
—: JUa

Lt LS5 R e u = (1,—2,K) Jasial s S K J leilae) canl sl 4ndll ale®
 Cpeadl

v=(30-2),w=(2—-1,-5)
: Jad)
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paas Wld u = xv + ywlas i
(1,-2,k)=x3,0,-2)+y(2,-1,-5)=
(3x + 2y, —2x — 5y)
t N Al e RS A ganall )5S
3x+2y=1, —-y=-2 ,—-2x—5y=k
k= —8 aai 5 pa¥l daladll 4 panenilhgx = —1,y = 2 ol ¥ oalilaall (e 2

pasaall @l iKY Jhd S SR Jlev = t2 + 4t — 3asaall o iS i)

e, =t2—2t+5 , e, = 2t* — 3t, e; =t+3
: dad)
Jualaall dadiul g J hd S SS vaiail
X,¥V,Z

vV =Xxeq; +ye, + 3e3
t? + 4t — 3t = x(t? — 2t + 5) + y(2t% — 3t) + z(t + 3)
= xt? — 2xt + 5x + 2yt? — 3yt — 3yt + zt + 38
= (x+ 2y)t? + (—2x — 3y + z)t + (5x + 3t)
Aaaal Dl Y peaids Bt J ansludall 5 68l O lae (5 5l

x+2y=1
—2x+3y+2=4
5x + 38 = -3
S
x+2y=1
y+z=26
—10y + 3z = -8
B
x+2y=1
y+z==6
13z =52

Cda el L s Al gie Ao sanall of Laadls
Q\gTX:—B,y=2,Z=4‘;\ch§AMMQ
v—3e; +2e, +4e3
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5=(; 1)
A=(1 o)

: Jad)
X,y ,z Jalaal alaasub AB,C J ba S 5 JS4 eE sl
E=xA+yB+zC

G D=x Hay® 9+ 2)
G0+ )+ %)

_( X x+2y)
\x+y y—z

o lalitall jaliall of by ¥ alaall (je 288N e ganall (65
Xx=13, x+y=1, x+2z=1,y—z=1
s of Ly x=-2,z2=—1 e Juasit 200, 30l gabled) 8 X =3 (gl
de sanall Ja S0 Lgals 131 G ganall Dla < il 5 5] Alalaall L (33a5 o)
E=3A—-2A—-2B—-C i
Gleaiall ot S 5 vy e DS vy, e, Vi Gleatiall i S s of i)
Vi, -, Vp
Vi = bjwy + bjwy + - + bjzwy
O ISa s Wy J oha s s lad san ol guu =avy +ayvy + ot ap vy
L(s) =LV
: Jad)
u=a;vy +avy, +--+a,vy
= a;(byywy + -+ bypwy) + az(bziwy + -+ bypywy)
+ay(bpiwy + -+ bpawy)

= (a;byq + azbyy + -+ apbm) wy + -+ (a1bgy + azbyy + -
+ ambmn)
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Jsiis W = f (V)88 Vasially o 56 £ 2ol 13 18 e e 1V > w, SSw ) v

f 3GV o sa AW

= bl Jygadll Gy s

13 Ll B gat e O W Jhdll clad) v il clad) e adla frvow cal€ 1
BILS

VeV Gk Kf(u +v)= fu)+f(v) - (i)

k ki ae J5v e udaie KIf (ku) = kf(u) - (i)

QB U = (Xq,Y 1) 0K 1Y (S.1) 4and 5 48 2 alla af = RZ 5 R

odsu + v =(vy +Vvoy1+ye)

flut+v) =1+ x)(vy +vp) + (vi +v2) (X1 +X3)

—(vi + Vo) (Vi Xp +y1.X — Y1) + (X2 Xy T Y2.X2 — V3)
[(w) +f(v)

ods ku = (kxq, kyp) ol ol 2ack 13 La
f(kU) = (le. kXZ + kyl. le - kyl)

=k(X1.X1 +y1.X1 — Y1)
=kf(u)

O}S;\ kl,kz u:\:l.\.ul:é Jae LﬁY}V ‘;Vl,VZ Lﬁiy 48 %mﬁjﬁf:v - w culs ‘.J;\
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